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Assessment Quiz

+

Servlets interface need to be while creating any sarviets.

Select the correct option

# Reload Math Eq s

Implemented

Extended

Initiated

Destroyed
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Assessment Quiz

Which of the following method of creating servlets is most abstracted one?

Select the correct option

# Reload Math Eq s

By inheriting the GenericServiet class

By inheriting the HttpServiet class

By not implementing service(), doGet() and doPost() methods

By implementing the Serviet interfoce
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Assessment Quiz

The public service method converts the

G The public service metho:  +

object into HttpServietRequest type

Select the correct option

ServerServietRequest

6 08

# Reload Math Equations

ServerRequest

ServletRequest

RequestServer
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Assessment Quiz

If the servlet is requested for the first time then which of the following task the web container will not do:

° Select the correct option # Reload Math Equations
) Calls the init method passing the ServletConfig object
bd
Delete the loaded class.
Instantiates the serviet class.
Loads the serviet class.
%
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Assessment Quiz

The getRequestDispatcher() method of ServietRequest interface the object of RequestDispatcher.

Select the correct option #) Reload Math Equations

Updates

6 08

Returns

Converts

Deletes
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Assessment Quiz

interface provides the facility of dispatching the request to another resource it may be html, serviet or jsp.

Select the correct option

& Reload Math Equations

6 08

RequestForward

RequestBackword

RequestBackForward

RequestDispatcher
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G he ServletContext object

+

The ServietContext object can be used to provide

communication.

Select the correct option

Intra-application

# Reload Math Equations

Serviet

Cookies

Inter-application




0 4+ Gemini | & ChatGPT W6 Course Content G Anobject of ServletCont=  +

m < C & wimsvuedupk/LessonViewer.aspx

o

6 08

|86 VU - Leaming Mana...

An object of ServietContext is created by the web contalner at time of

the project

Select the correct option

# Reload Math Equations

Integration

Deployment

Development

Testing
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Assessment Quiz

+

The object of ServietContext provides an interface between the container and

Select the correct option

URL

# Reload Math Equations

Serviet

Server

Cookies




0 4 Gemini | & ChatGPT W6 Course Content G getServletContext() meth +

m < C & wimsvuedupk/LessonViewer.aspx

o

6 08

|86 VU - Leaming Mana...

Assessment Quiz

Question#10f3

Time Left: 71sec(s)

ngervlotContoxI() method of ServietConfig interface returns the __

of ServietContext.

Select the correct option

# Reload Math Equations

Variable

Object

Method
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Assessment Quiz

Session tracking is a way to state (data) of an user.

Session tracking is a way

+

P

Select the correct option

@ Reload Math Equations

Delete

6 08

Insert

Maintain
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Assessment Quiz

public String getinitPara meter[Strmg name): Returns the parameter value for the specified

Select the correct option

6 08

Object

# Reload Math Equations

Parameter

Method
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Assessment Quiz

Which one is session l!Oth!‘lg technique?

G Which one is session trac

+

P

© Select the correct option #® Reload Math Equations
HttpCookies

() P

bd
URL session
URL rewriting
URL writing

%
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Assessment Quiz

Question# 50f5

G There are

technigu

+

Time Left: 71sec(s)

There are ______ techniques used in Session tracking

2

6 08

Select the correct option

# Reload Math Equations

Four

Three
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Assessment Quiz

simply means a particular interval of time.

simply means

P

Select the correct option

@ Reload Math Equations

Web

6 08

Servlet

Server

Session
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Assessment Quiz

HTTP protocol is a protocol .

+

P

Select the correct option

@ Reload Math Equations

Exponential

6 08

Linear

Stateless

Uniform
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Assessment Quiz

G Which method can be uss

+

Which method can be used within and outside the server?

o Select the correct option @ Reload Math Equations
(L] Redirect()
£
sendRedirect()
forward()
sendforward()
v
C]
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Assessment Quiz

The sendRedirect() method of HttpServietResponse interface can be used to redirect response to another

Select the correct option

6 08

Class

Resource

Method

Variable
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Assessment Quiz

G The sendRedirect() metho

+

The sendRedirect() method works at

Select the correct option

# Reload Math Equations

6 08

Client side

Server side

Peer-to-peer

Server and client sides
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Assessment Quiz

Which of the following is not a way of creating serviets?

Select the correct option

# Reload Math Eq s

By inheriting GenericServiet class

By inheriting HTTPServlet class

By implementing servlet interface

By caolling service (} method
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Assessment Quiz

+

Apache Tomcat required following jar file:

Select the correct option

& Reload Math Equations

6 08

javaeejar

jovajar

e

weblogicjar

serviet api-jar
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Assessment Quiz

Which of the following method of invoking servlet requires complete implementation of serviet lite cycle?

Select the correct option

# Reload Math Eq s

By inheriting the HttpServiet class

By inheriting the GenericServiet class

By not implementing service(), doGet() and doPost() methods

By implementing the Serviet interfoce
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Assessment Quiz

& The RequestDispatcherint  +

the request to another resource.

Select the correct option

6 08

Dispatching

Converting

0
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Assessment Quiz

getServietContext() method of GenericServiet class returns the of ServietContext.

Select the correct option @ Reload Math Equations

Object

Method

Variable
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Assessment Quiz

A cookie is a small piOCD of

that is persisted between the multiple client requests.

Select the correct option

# Reload Math Equations

6 08

knowledge

information

Wisdom
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Assessment Quiz

G ersistent cookie is not ren

+

Persistent cookie is not removed each time when user

Select the correct option

# Reload Math Equations

6 08

closes the browser

Installs the browser

opens the browser

Uninstalls the browser
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Assessment Quiz

Question #10f3

G Following code is used to

+

Time Left: 63 sec(s

Following code is ugsed to a cookie.
Cookle ck=new Cookie('user’,'sonoo joiswal’);

response. uddCookie(ck}

Select the correct option

& Reload Math Equations

delete

update

create

create and delete
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Assessment Quiz

+

Which type of cookie is valid for single session only?

o Select the correct option @ Reload Math Equations
() Persistent
fd
Non-ldentical
Identical
Non-persistent
Q<
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Assessment Quiz

+

A cookie is o kind of information that is stored at ___ _____

Select the correct option

@ Reload Math Equations

6 08

Super computer

Server side

client side
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Assessment Quiz

+

is a kind of information that is stored at client side

Select the correct option

@ Reload Math Equations

6 08

Serviet

cookie
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Assessment Quiz

In case of hidden form field a hidden (invisible) textfield is used for maintaining the state of

Select the correct option

Servlet

Sever
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Assessment Quiz

We append a token or identifier to the of the next Serviet in URL rewriting.

Select the correct option ® Reload Math Eq s

Server

Serviet

Servlet and server
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Assessment Quiz

Which one is not a disadvantage of hidden form field?

G Which one is not a disad

+

Select the correct option

# Reload Math Equations

Cnly textual information can be used.

It is maintained at server side.

Extra form submission is required on each page.

It will always work whether cookie is disabled or not
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Assess  ent Quiz

+

Which one is the correct format that can be used to send parameter value pairs?

44

Select the correct option

Reload Math Equations

urlPnamel=valuel&name2=value2&??

6 08

urinamel=valuel&name2=value2&??

urPnamel=valuelll nome2=value2&??

uri2namel=valuel|l name2==value2&??




0 4+ Gemini | & ChatGPT W6 Course Content G In HTTPSession, we can b | G We can store and get dat:  + Q
=
E < c & wimsvuedu.pk/LessonViewer.aspx ey roLs= é © l

VU - Leaming Mana...
L] a

Assessment Quiz

We can store and get data from

Select the correct option ® Reload Math Equations

request objects

response object

serviet objects

sassion objects

'a Hot weather
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Assessment Quiz

When the user clicks the hyperlink, the parameter name/value pairs will be passed to the

2

Select the correct option

6 08

Server
fd

Servlet and server
Q& Serviet
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Assessment Quiz

Question# 2of4

G API stands for, . 5e

Time Left: 76 sec(s)

AP| stonds for

Select the correct option

Application Pre-binding Interface

# Reload Math Fquations

Application Programmable interface

Application Privacy Interface

Application Programming Interface
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Assessment Quiz

Question# d4of 4

G HttpSession getSession()

+

Time Left: 77 sec(s)

HttpSession getSession() returns the

session(s).

£

Select the correct option

# Reload Math Equations

Next

Current

Previous

= Windy tomorrow
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Assessment Quiz

G API contains description o

+

_of a product/software

API contains description of

o Select the correct option # Reload Math Equations
(] None of the above
fd
All features
Few features
Highlighted features
Q<




0 4 Gemini | & ChatGPT W6 Course Content G Network Protocal driver
m < C & wimsvuedupk/LessonViewer.aspx

VU - Leaming Mana...
L] a

Assessment Quiz

+

Network Protocol driver uses middleware that converts JDBC calls into the

database protocol

Select the correct option

@& Reload Math Equations

CDBC

6 08

Vendor-specific

API-specific
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Assessment Quiz

Java Database Connectivity APluses ________ to connect database.

Select the correct option # Reload Math Equations

6 08

No drivers needed
fd
JDBC drivers
ODEC drivers
APl drivers
Q<

H /O Type here to search =) L & Sunset coming '_:I_J iy
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Assessment Quiz

G Web Services are open st

+

Web Services are open standard

Select the correct option

6 08

Application IDE

# Reload Math Equations

None of the these

Application components

v Application designing tool
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Assessment Quiz

Basic Web Services platform is the combination of

Select the correct option

6 08

HTML, XML

# Reload Math Equations

CSS, HTTP

XML, HTTP

Q CS55, JAVA
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Assessment Quiz

G Basic Web Services platfc

+

Basic Web Services platform is the combination of

Select the correct option

# Reload Math Equations

CSS, HTTP

HTML XML

XML HTTP

CSs, JAVA
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Assessment Quiz

G Web Services are open st

+

Web Services are open standard

Select the correct option

# Reload Math Equations

Application components

None of the these

Application designing tool

Application IDE
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Assessment Quiz

G Web Services interact wit

+

Web Services interact with other web applications for

Select the correct option

6 08

Data correction

# Reload Math Equations

Making creative design

Exchanging dato

v Better interface
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Assessment Quiz

+

SOAP message is sent to the web service as the body of an HTTP GET request.

-

Select the correct option

# Reload Math Equations

6 08

False

®
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Assessment Quiz

+

can change your existing application into Web application.

Select the correct option

6 08

API

# Reload Math Equations

Web Services
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Assessment Quiz

can change your existing application into Web application.

Select the correct option

# Reload Math Equations

Web Services
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Assessment Quiz

The web service unpacks the SOAP request and converts it into a commmand that the application can understand.

-

Select the correct option

# Reload Math Equations

True

®
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Assessment Quiz

The client program bundles the account registration information into a SOAP message.

-

Select the correct option

# Reload Math Equations

False

O
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Assessment Quiz

G JDBCis

Select th

+

JDBC is

Select the correct option

# Relood Math Equations

JAVA Dashboard Connectivity

JAVA Debugger Connectivity

JAVA Database Connectivity

JAVA Database Communication

= Windy tomorrow
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Assessment Quiz

Web services use

protocol, 50 you can use your existing low-cost internet for implementing web services.

Select the correct option

SOAP over HTTP

6 08

# Reload Math Equations

EDI/B2B

B2B/EDI

HHTP over SOAP
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Assessment Quiz

Which of the following layer is NOT among the standardization of protocol stack in web services?

P

Select the correct option

#) Reload Math Equations

6 08

Service Discovery layer

Service Transport

HTTP Conversion

Service Description
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Assessment Quiz

Question # 3of4

+

Time Left: 77 sec(s)

Web services are used to make the application platferm and technology

Select the correct option

Dependent on each other

# Reload Math Equations

Dependent on web services

Independent

Equivalent
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Assessment Quiz

Hidden form field is widely used in

G Hidden form field is wide

+

Select the correct option

# Reload Math Equations

Server side

Visibility of radio buttons

Commaeant form of a website

Server side and visibility of radic buttons
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Assessment Quiz

+

From a Serviet, we can use method to obtain a parameter value.

Select the correct option

# Reload Math Eq s

postParameter()

newParameter()

getParameter()

saveParameter()
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Assessment Quiz

In HTTPSession, we can bind the objects on HttpSession instance and get the objects by using method(s).

-

Select the correct option ® Reload Math Equations

setattribute() and getattribute()

6 08

getObjects()

setattribute()

getAttr ibu(o&()
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Assessment Quiz

Question# 3of4

is used to unb

+

Time Left: 75 sec(s)

is used to unbind any objects bound to it.

Select the correct option

® Reload Math Equations

void cancel()

void cancel&()

void invalidate()

void invalidates()

'a Hot weather
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Assessment Quiz

———— implies that if one interface changes, the other must also be updated

Select the correct option

# Reload Math Equations

6 08

Equally coupled Systemn

Tightly coupled system

None of the mentioned

Loosely coupled System
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Assessment Quiz

Question #10of 4

+

Time Left: 0 sec(s)

Following is the code to store valug in hidden field.
<input type="hidden” name="uname” value="Vimal Jaiswal>

Which of the following is used for hidden field name?

4

6 08

Select the correct option

# Reload Math Equations

uname

Jaiswal

hidden

® Vimal
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Assessment Quiz

+

A web service is a unit of managed code that can be remotely invoked using

Select the correct option

@ Reload Math Equations

6 08

FTP
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Assessment Quiz

G A cookie does not contal

+

A cookie does not contain

Select the correct option

# Reload Math Equations

6 08

Name

Single value

Min age

Comment
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Assessment Quiz

Following code is usedto ____. cockies.
Cookle ck=new Cookie('user’™);
cksetMaxage(0);

response.addCookie(ck);

4

Select the correct option #® Reload Math Equations

6 08

2 delete
update and delete
Q&
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Assessment Quiz

Cookie ck|]=requestgetCookies();
for(int i=0ji<ck length;i++){
outprint("<br>"+ck[|LgetName()+" “+ck[i.getvalue() );f/

}

G ollowing code is used to

+

Select the correct option

update and delete

# Reload Math Equations

delete

update
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Assessment Quiz

Clients retr

+

_ Clients retrieve their result at a later point in time.

Select the correct option

# Reload Math Equations

6 08

Asynchronous

Isochronous

Multi-lsochronous

Synchronous
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Assessment Quiz

The impact of component development through Enterprise JovaBeans (EJBs) and MET Components have
enterprise deployment.

Select the correct option # Reload Math Fquations

No effect on either

6 08

Increase in one and decreased in other.

Decreased

Increased
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Assessment Quiz

Web Servicesuses ___ __ _
platform binding

___ at data representation and data tronsportation layers which eliminates any networking, operating system, or

Select the correct option

# Reload Math Equations

XML

6 08

HTML and Php
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Assessment Quiz

+

———— Capability is a key factor in enabling loosely coupled systems.

Select the correct option

# Reload Math Equations

lsochronous

6 08

Asynchronous

Synchronous

Multi-lsochronous
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Assessment Quiz

+

Remote procedures expose that a web service support.

Select the correct option

Input and output parameters

6 08

# Reload Math Equations

Neither input nor output parameters

Input parameters

Output parameters
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Assessment Quiz

Web services allow clients to invoke procedures, functions, and methods on remote objects using an based protocol.

Select the correct option # Reload Math Fquations

XML

6 08

HTML
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Assessment Quiz

UDDI can communicate via Protocol

Select the correct option

Java RMI

# Relood Math Equations

All of the given
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Assessment Quiz

G UDDI stands for Universa

+

UDD! stands for Universal Description,

., and Integration.

Select the correct option

6 08

Discovery

# Relood Math Equations

Direction

Distance
Q<
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Assessment Quiz

WSDLis afan

based protocol for information exchange in decentralized and distributed environment.

Select the correct option

XML

# Relood Math Equations
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Assessment Quiz

Question #10f5

+

Time Left: 64 sec(s)

The service connection is understandabile to both service consumer and

Select the correct option

# Reload Math Equations

Service Consumer

Service Broke

Server

Service Provider

'a Hot weather
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Assessment Quiz

Service consumer sends service request to the service provider and service provider sends the service response to the

P

Select the correct option

Reload Math Equations

Service Consumaer

Service Provider

Service Broke

Server




0 4 Gemini | & ChatGPT W6 Course Content G A service is well-defined +

m < C & wimsvuedupk/LessonViewer.aspx

o

6 08

|86 VU - Leaming Mana...

Assessment Quiz

A service is well-defined,

function that represents unit of functionality.

Select the correct option

# Reload Math Equations

Open occess

Self-contained

Layer dependent

None of the given
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Assessment Quiz

is the easiest

+

e ——__ is the easiest way to get started with web services.

Select the correct option

# Reload Math Eq s

URI

XML-RPC

RESTUI
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Assessment Quiz

+

SOAP requires more than REST.

Select the correct option

# Reload Math Eq s

Resources, URI

URI, Bandwidth

Bandwidth, Resources

Protection, URI
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Assessment Quiz

+

is a specification for a distributed registry of web services.

Select the correct option

HTML

# Reload Math Equations
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Assessment Quiz

G UDDI stands for Universa

+

UDDI stands for Universal Description,

, and Integration.

Select the correct option

Direction

# Reload Math Equations

Distance

Discovery
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Assessment Quiz

allows you to

+

e Gllows you to get around firewalls.

r

Select the correct option

# Reload Math Equations

6 08

WDSL
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Assessment Quiz

is a language for describing how to interface with XML-based services.

Select the correct option

WSDL

# Reload Math Equations

HTML
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Assessment Quiz

WSDL is afan

based protocal for information exchange in decentralized and distributed environment

Select the correct option

HTML

# Reload Math Equations
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Assessment Quiz

WSDL is afan

based language for describing web services and how to access them.

Select the correct option

XML

# Relood Math Equations




0 + Gemini | & ChatGPT W6 Course Content G SOAP uses o+ Q _ g X
m < C @ wimsvuedupk/lesson\iewer.aspx e > 0 4L D

VU - Leaming Mana...
L] a

Assessment Quiz

S0AP uses to discover the services.

Select the correct option ® Reload Math Eq s

All of the given

6 08

RESTHUI
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Assessment Quiz

~
€}

SOA is a concept only an

+

S0A is a concept only and it is

Select the correct option

Tied to JSON

# Reload Math Equations

Not tied to any programming language

Tied to XML

Tied to HTML
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Assessment Quiz

G SOA stands for

SOA stands for

Select the correct option

# Reload Math Equations

Security Oriented Architecture

Service Oriented Architecture

Secure Object Authorization

Service Object Architecture

'a Hot weather
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Assessment Quiz

G SOAPis

. Se

Select the correct option

Platform and language dependent

# Relood Math Equations

Platform independent

Platform and language independent

Language independent
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Assessment Quiz

WSDL is afan

based language for describing web services and how to access them

Select the correct option

XML

# Reload Math Equations

HTML
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Assessment Quiz

specificat

+

specification defines the envelope structure, encoding rules, and conventions for representing web service invocations and responses.

P

Select the correct option

#) Reload Math Equations

URI

6 08
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Assessment Quiz

The service producer and service consumer have a mutual understanding of the being passed along

Select the correct option # Reload Math Equations

roles, procedures

6 08

context, content

process, procedures

protocol, medium
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Assessment Quiz

The architecture must address complex nonfunctional requirements in

Select the correct option

RESTHUI

6 08

# Reload Math Equations
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Assessment Quiz

Web service delivery or aggregation into existing web sites can be enabled easily with a

Select the correct option

RESTHUI

6 08

# Reload Math Equations
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Assessment Quiz

G In document style, SOAP

+

In document style, SOAP message is sentas a

document

P

Select the correct option

#) Reload Math Equations

6 08

Triple

Single and Double

single

Double
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Assessment Quiz

is particularly useful for limited-profile devices

is particularly uss

Select the correct option

WSDL

6 08

# Reload Math Equations
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Assessment Quiz

allows develop

+

allows developers to write messoge-criented as well as Remote Procedure Call-oriented (RPC-oriented) web services.

P

Select the correct option

#) Reload Math Equations

JAX-RS

6 08

JAX-WS
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Assessment Quiz

style web services use method nome and parameters to generate XML structure.

Document Style

P

Select the correct option

#) Reload Math Equations

6 08

Document Style
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Assessment Quiz

specificat

+

Select the correct option

WDSL

6 08

# Reload Math Equations
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Assessment Quiz

style, SOAP

+

style, SOAP message is sent as many elements.

Select the correct option

XML

6 08

# Reload Math Equations

Document




